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fraum soHE $ ue Sy, 207 Bsa1 & U oita vy W) el 81 afe shig ik
ISP & o THUT OIS 0.64 B, <t 3rfUHaw A7 Forat shiy fa=1 frwa I I&dt 8: (g

=10 H1A2)

1.5.6 m/s /5.6 H/A

2. 113 m/s/11.3 1A
3.33.6 m/s /33.6 HIA
4.22.4 m/s /22.4 T

Correct Answer :-

e 113m/s/ 113"

A potential difference of 10V is applied across a conductor of conductance 5071, The
current through the conductor is : /

TaHd 50! 91 TP AP WR 10V BT faHaiaR uga far Smar 8 | Iae & areay 3
WI'%H‘HT?T%:

1. 25A
2. 60A

3. 50A

4. 30A )
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U HIYRUT Aol P dars 3R THY 3afd & aif & o &1 U1 gidn &:
1. Parabola / U3dddd

2. Circle / dd
3. Straight line / TTet 3T

4, Hyperbola / 3fd Raag

Correct Answer :-

+ Straight line / el ar

The density of mercury is 13.6 g em™ in CGS system. Its value in SI system is: /
Hehed yurrelt § UR 67T 99 13.6 ¢ cm™ 8 1 TH3ATS YUTTelt § $9PT HIF BII:
1.13.6 x 10% kgm
2.13.6 x 103 kgm™
3.13.6 x 10% kgm™
4.13.6 kgm™
Correct Answer :-

. 13.6x 103 kgm™

The angle of dip at a certain place where the horizontal and vertical components of the
earth’s magnetic fields is: /

S [Rf3a WA W Afa o1 (@1 31w fEu) 319 &Y, Siel gt & geaig & & afaw
3R FeafeR ged R g §:

1. 60°
2.45°

3.30°

a. /0
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S afe=mt -2i + 3j + k 3R i + 2j - 4k F T BT RI0T 8-
1. 180°

2.0°

3. 90°

4. 45°

Correct Answer :-

e 90°

The focal length of an equi-convex lens in air is equal to either its radii of curvatures. The
refractive index of the material of the lens is: /

a1 ¥ U GH-3d A B! Bled TS STP! ahdl a1 & SR1ER gidl 2 | A9 & uerd
BT YA §:

1.2.5

2. 15

3. 1.33
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Correct Answer :-

« 15

9) The time period of a satellite of earth is 5 hours. If the separation between the earth and
the satellite is increased to 4 times the previous value, the new time period will become:/

il & Th AedaTge St U AafY 5 HeT 31 afe gt 3 Aearse & & guamor I
Td a9 A TSI 4 AT 9 $ 341 oirar g o 98 99y 3afy ghft:

1. 30 hours / 305%
2. 10 hours / IO'EI%
3. 80 hours / 803%

4. 40 hours / 40 ©¢

Correct Answer :-

« 40 hours / 40 G¢

10) The total energy of simple harmonic oscillator is proportional to : /

TR ST QD DY P il gHDb SATTUTAD ﬁ@o(Q
1. Velocity / aT \l~®

2. Square root of the displacement / foriTgg 5@&?{

3. Square of the amplitude / 3TUTH & GT%\'

Q\
4, Amplitude / 3TIH

Correct Answer :- §

« Square of the amplitude / 3TATH & I

11) The energy required to move a satellite of mass ‘m’ from an orbit of radius 2R to an
orbit of radius 3R is:/

‘m’ ST & TP Aedge $I 2R 3501 a1 U F& A 3R 301 a1a U F& § 7fd w1 & fae
STIGP FHell B AT 8:

1. mgR
2. (mgR)/12

3. (mgR)/8
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Correct Answer :-

« (mgR)/12

12) The core of a transformer is laminated to: /

TS SIPRR BT R (A9 8 afAes giar g:

1. Reduce the flux leakage / Udle ROa s paFH 1%111

2. Reduce the power loss due to eddy current / HaR YRT &% HRUT fagyd &ifd &I HH H & g
3. Reduce hysteresis loss / %@ﬁ_{:ﬂg &‘lﬁf P HFH B B ﬁ”l'q

4. Reduce copper loss / did &1 &ffd Bl HH B B INIY

Correct Answer :-

+ Reduce the power loss due to eddy current / YR YRT & BRI ﬁ?ga &fd 1 Y HA & |

13) If the red light is replaced by blue light for illuminating the object in a microscope, the
resolving power of the microscope: /

gfe TP Geaexil § avg 1 A HIA & e ara yomm=n o el ysrr S ufawifig w1
faan Smar 8, ot gerexi 3t fave e

1. Increases / d@ STt % |

2. Decreases / hH E?f STt % |

3. Remains unchanged / 3ufafdd gl %I
4. Gets halved / 3Melt 33[ STt % |

Correct Answer :-

o Increases / de STl % |

14) A liquid taken in a vessel cools from 70°c to 60°c in 5 minutes and 60°c to 50°c in 7
minutes. The room temperature is:/

TP I A foram T a= e, 5 fiFe A 70°¢ | 60°c 3R 7 A A 60°c T 50°0c B ST 7
STdT 2 | HHY BT dATIHH 2

1. 28°C

2.23°C

2_30°C
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A T4, 40T oA 1 TS Tielt B 1200 H/A F AT A AT 81 59 UPSH aral
TH! I WR ARGAT 144N BT A T bl 3 | I8 Uid AP s Sifwan fHa-it
et gFT §Hd 82

1.6
2.3
3.48

4.1

Correct Answer :-

With increase in temperature, the angle of contact in a liquid: /

ATYH # i & 1Y, TH avel BT TR HI0T (T 3P Blede) :
1. First increases and then decreases / tlﬂﬁ dedl % G‘ﬁT e gear %

2. Increases / de Sl 8 _
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4. Remains constant / @R Jedl %

Correct Answer :-

« Decreases / Yc SIIdl %

If aj is the Bohr’s radius, then the radius of Li*" ion in its ground state, on the basis of

Bohr’s model is : /

Tfe 2, TR I U1 2, N IR Al & YR W 3D FHHaH S@aRATH Lit 1 Bl
ﬁ'ﬂﬂ%z

1. ao /2
2. ao /4
3. a /3

4. qg

Correct Answer :-

. 30/3

Boiling water is changing in to steam. The specific heat of boiling water is:/

STAdT U HTY H ged 38T ¢ | Igad Ul 3t faflkry S g:
1. Zero / A

2. Less than one / T% I &H

3. Infinity / 3/9d

4. One / U

Correct Answer :-

« Infinity / 3{=d

At a certain place, the horizontal component of earth’s magnetic field is 1/7/3 times the
vertical component. The angle of dip at that place is: /

% fAfia A R, gudt & et &5 &1 &fas ues, Heafer ged &1 143 [T 81 39
R R Afd HI01 3:

1. Zero / [
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3.45°

4. 30°

Correct Answer :-

e 60°

21) Area under force-displacement graph gives: /

A-fIRITT 3% F Sl &7 =T dan @:
1. Work / BT

2. Impulse / 3T

3. Momentum / ol

4. displacement / IERIINE

Correct Answer :-

. Work/a’)—l'g[

22) A strong magnetic field is applied on a stationary electron. Then the electron: /
% fRR A9 R TP Uad ga& 17 &F a1 frar oira1 81 99 saaei:
1. remains stationary / fRR Y&l %l

2. moves perpendicular to the direction of magnetic field / W &3 &1 fo=m d deaq nfafia
Bl gl

3. moves in the direction of magnetic field / W &%[ i IEQ H Tl %I
4, moves opposite to the direction of magnetic field / W &F &1 fgxn & fau’ia Tadn %I

Correct Answer :-

 remains stationary / RR Jedl %l

23) If an alternating current of 50Hz is flowing through a conducting wire, then how many
times does the current become zero in one second: /

gfe 50 51 B TP YATadl YRT TP HATEP dR A TId 98 8 ¢, O Uh Abs A URT
fasit IR 3= 7 ol §:

1. 125

2L
AP o)
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TP Aol AT DI 2 A T T Sirar g oik sHa! fRufas et u g1 afe sart &1 10
A 9o War &R 9 et fRAfas SHaf gl

1.25U
2.5U
3.U/5
4. U/25

Correct Answer :-

« 25U

Which of the following statements is TRUE if the filaments of 40W and 80W bulbs are of the
same length? /

fFrafafed & Q@ S19-91 59 T8 © afe 40w 3R 80w dod & fhardc THM daTs & 82
1. 8OW filament is thicker / SOW ATl fohaHie 31fde InET%I

2. 40W filament is thicker / 40W dTeTl fhelHE e HICT 5 |

3. Both cannot have the same length / Ea:h Al ?Ia'l?f gHA :l_E?[EPf Tl % |

4. Both are of same thickness / aﬁ:ﬁ gHA lﬂ‘c“ré & %I

Correct Answer :-

« 80W filament is thicker / 80W dTeT fobaTacT 3ifdes MeT g1

Which one of the following is a fundamental quantity?/

Frafafea o @ F19-30 v ga afX (reed wwifedh) 82

1. Weight / dsid
2. Work / BT
3. electric current / fdGgd YRT
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A p-n junction diodeis connected to a batterv of emf 5.5V and external resistance 3 1k€ as

shown below. The barrier potential in the diode is 0.4V. The current in the circuit is: /
U pn HiE SRS, SUATH 55V T e dedl R awed ufokie 5.1kQ & 5T §37 &,

ST & S g =T g1 sIE & e @eg 0.4V 81 afgy & amr
510

[ A

L~
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&I

4, 25n radian/ 25n ST

Correct Answer :-

e 25 radian/ 25 ilgq:l

Topic:- Chemistry

The complete hydrolysis of DNA yields: /

SieTe &1 Quf a sruae (gTgSIferRm) Sed #ear §:

1. B-D-2-deoxyribose, phosphoric acid and uracil / B-D-Z-gjf\}ﬁla'\‘:ﬂ?lgﬁh\_ﬂ, BIRBIRG RT3

2. B-D-2-deoxyribose, phosphoric acid and adenine / B-D-2-33f&ﬁla¥ﬂ?|3_®l3ﬁf, RIS 3T 3R

3. B-D-ribose, phosphoric acid and thiamine / B—D—QI$®I\I{-I, IR 3T 3R YT

4. B-D-ribose, phosphoric acid and uracil /B-D-Tl—s’@ﬁﬂ, BIEpING 3 Gﬁqlﬁﬁﬂ

Correct Answer :-

» B-D-2-deoxyribose, phosphoric acid and adenine / B-D-Z-@&Td*l(\lilsd\lvl, BIh NG 3T 3‘ﬁ?

TSt

www.FirstRanker.com
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1. Nylon-2-nylon-6 / AIAIH-2-ATIdH-6

2. Polyvinyl chloride / TTdIfaATSd FIRTSS

3. Bakelite/éﬁ'l’s’fcr
4. Polythene /Uﬁiﬂq

Correct Answer :-

« Nylon-2-nylon-6 / TTAQA-2-TIdAI-6

4) An organic compound contains 40.687% of C, 5.085% of H and the rest is oxygen. The
empirical formula is: /

TP BIa- AP T ¢ BT 40.687 %, H BT 5.085% 3R AT TR & | THPT MJHAP
SERIKCIERIIGERS

1. C,HsO
2. C,H50,
3. C3H,0,

4. C4H30

Correct Answer :-

+ GH30,

5) The mole fraction of a solute containing non-volatile solute is 0.20 and the vapour pressure
of the solvent is 0.75 atm. What is the lowering in the vapour pressure of the solution? /

R-aTw=iid I god U faa &1 7id 3021 0.20 § 3R fada® &1 a0 319 0.75 atm B
faaae & e ¥ FEa | g2

1. 0.2 atm
2.0.15 atm
3. 0.30 atm

4, 0.6 atm

Correct Answer :-

e 0.15 atm

www.FirstRanker.com




[’l » FirstRanker.com

) BUSHANKAEHELRICES with potgssivmipstRankenzie i dilute aliaing. FpsiRErREP M
i

& o & fore 9o &ta a1 § N W sdisTss, Uie Ry wiTHe &
1y rfufspar Hrar gl

1.10,"
2.10,

3. 103~

4. 1,

Correct Answer :-

7) Which of the following is a suitable test for the distinction between CH3CHO and
CgH5CH,CHO? /

fraferfad & @ S9-17 cH3CHO 3R C4H5CH,CHO F T W HR & foTe U uleoT
0

1. Benedict’s test / STSdC TRI&UT

2. Tollen’s test / TIoi Uleqor

3. lodoform test / Wqﬂ&m

4. Fehling solution test /aﬁﬁmﬁ?ﬁﬂ Y&

Correct Answer :-

« lodoform test / STISIBTH GA&fur

8) In potassium dicyanoargentate (I), the Roman Numeral represents the .
TRy sEEAIsriee (1) #, A9 3P P1 ufaffirea a1 gl
1. charge on the complex /W TR 3

2. coordination number of the complex / {-ig?ﬂ D Y G
3. oxidation state of central metal ion /ﬁu IGESIRE] BT HRIBRT TR
4, secondary valency of the central metal ion / Do Yrqg A1g4 CARFGIRE RS BISES|)

Correct Answer :-

« oxidation state of central metal ion / PSIT Yrd A1 D1 SHTRITHRUT HTRT
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1. Vitamin D / fdeTf® D
2. Vitamin C / fdef® ¢
3. Vitamin B / [dCT®H B

4. Vitamin 812 /ﬁaﬁ:{Blz

Correct Answer :-

e Vitamin B12 / ﬁaﬁ:{ B12

10) A solution contains mixture of CaCl, + AICl;. In order to precipitate only Al as

aluminium hydroxide you should add: /

& fdea # cacl, + AIC1, &1 frgor 8 | TegHifad grssiarss & U d »ad Al )
Sq&TId HA & e syt frer=n @nfge:

1. NH,CI + NH,OH
2. NH,Cl + NaOH

3. NaCl + NaOH

4. NaCl + NH,OH

Correct Answer :-

. NH,CI + NH,OH

11) In Freundlich adsorption isotherm, the value of 1/n is: /

msﬁ\wmaﬁﬁ, 1/n W'FH:T%:

1. 1 in case of physical adsorption / ifaes sifdreme T & fRufa & 1
2. 1 in case of chemisorptions /Q@Tﬂﬁw &I R H 1

3. Between 0 and 1 in all cases /Hlﬁ fRufeai # o GﬁT 15 9"

4. Between 2 and 4 in all cases /Hqﬂ fRufeai 2 R4 p g

Correct Answer :-

o Between 0 and 1 in all cases /H“—ﬁ@—lﬁﬁfﬁ 0 GﬁT 1hE"
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LY EISREANRF SR 6%n1 to 500 gohmesrstromstanicaitssure of 2 EMstraAIbe Bork
done by the gas. /

TP T 2 atm & T 1@ & 3iafa 200 fArelt | 500 freht a9 u=ia gl 81 9 g1 fw
T SR B TUET B |

1.30.795 ]
2.121.59J
3. (-) 30.795 J

4.(-) 60.795 ]

Correct Answer :-

. (-)60.7951]

13) Latent heat of vaporization of water is 540 cal gm™ 1, Calculate the entropy change
observed during evaporation of one mol of water./

ST & ATSHIHROT 1 0T ST 540 cal gm— | 1 5T & TP HIT & aTHDHRUT & GIRTH
Hfara Trerdt uftad=T &t 7T B

1. 367 cal mol™ ! / 3.67 Wﬁlﬁl
2.2.6calmol" /2.6 Wlﬂal
3.26 calmol" ! /26 wrhﬁl
4.1.82 cal mol ! /1.82 Wnﬁal

Correct Answer :-

« 26calmol /26 HaAR! Al

14) In a solid, oxide ions are arranged in CCP. 2/3 of the tetrahedral voids are occupied by M
cations and 1/3 of the octahedral voids are occupied by N cations. What is the formula of the
compound? /

U 319 1, ifrss M- AR # srafRud gid € | aqupas g Rfdaal & 2/3 R
ATgT M SfUPR @ § SR rvthes g RfTaal & 1/3 IR Y491 N IfieR Rad g1
e &7 3 71 8?

2. MyNO;

3. M3N,40
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Correct Answer :-
e MyNO;

15) IfKClis doped with 10 mol% of SrCl,, then what is the concentration of cation

vacancies? /

Tfe KC1 &1 SrCl, & 10 4 mol% & TTY e faam wrar 8, af y-ra= Refeaal #) gigar s
8?2

1.6.02 x 107
2.6.02x10!8
3.6.02 x 1019

4.1.0x10%

Correct Answer :-
. 6.02x 107

16) In the first order reaction, the concentration of the reactant is reduced to 25% in one
hour. The half-life period of the reaction is: /

uYH Hife B AfHfpar A, ifirpre & Higdl U G § 25% TP HH gl Sl g
ifferar o1 Srefg ®1a 8:

1. 1/zhour/‘/z'%jET
2.2h0urs/2‘5|%
3.4h0urs/4‘il%,r

4, 1/4™ hour / 1/4 deT

Correct Answer :-

. Vzhour/%‘dﬂ

17) An anion X with mass number equal to 37 has one unit of negative charge. If the anion
contains 11. 2% more neutrons than electrons, then what is the symbol of the anion? /

37 & SRIER SHHTT J&AT 9T BUMIT X H THRIHD AN H1 TH FHTS ¢ | afe B
o gadeE @ a1 H 11. 2% 3ife Y g, Ot HUIma- &1 Uedid 1 3?2

1. 1gX37"
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3. Butanone /@i:h:f
4. Butanal / @:IT"T

Correct Answer :-

. Benzaldehyde/aﬁl %GIQS

21) Which one of the following transition metals has no electrons in the ‘s orbital’ of the
ultimate shell? /

fFrafafea 9 & fora dwpaor urg & sifaw S & s B& | B gaage g1 sid1 82
1.Pd (Z= 46)
2.Y (Z=39)
3.Ru (Z= 44)

4. Mo (Z=42)

Correct Answer :-

« Pd (Z=46)

22) Which one of the following pairs of elements have anomalous electronic configuration to
acquire stability due to the symmetrical distribution of electrons (elements: P, Q, R and S
with Z values equal to 27, 29, 24 and 22 respectively)? /

Tl & fFAufafea 7 @ $19-3 g A gagel & quiia favur & $rRur fRRdr ura $:1 F g
faxinfaget saeeie o= 82 (2 91 |fed a@: P,Q,R 3R S HHRI: 27, 29, 24, 22 & JHH
)

1.SandQ/S 3R Q
2.RandS/RGﬁTS
3.PandS /P3RS
4.QandR/Q3ﬁTR

Correct Answer :-

. QandR/QGﬁTR

23) Which one of the following properties is NOT shown by carbon monoxide (CO)? /

fFrafafaa # @ Si9-91 qured S1dT Aeiedss (CO) gIRT 8] S=IiaT STdT 82

1 1t is a neutral oxide /g Udh o JiEs 21
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3. It reacts with O, on heating to form CO,. / g CO, fator o for 6 A R 0, & 1Y
3ififehar el B |

4. Its bond order is equal to 2.5. / 3D 3T pife (drs 3'|V|é€) 2.5 %W%I

Correct Answer :-

« Its bond order is equal to 2.5. /E"‘v‘lﬁ'ﬁ 3Y Hife (@TTS’ HVISCQ) 2.5 %W%I

24) Which among the following pairs will show anisotropy? /

frafafaa 3 @ S=-ar gw RureRed @Eaed) eufem:
1. CaF, and ZnS / CaF, 3R znS

2. Glass and charcoal / T 3R mcbgﬁ P Sl (Eﬂmﬁ)

3. Plastic and graphite | WIReH 3R DLIE

4. Diamond and charcoal / RT 3R dH Sl BT HITdT (TRDIA)

Correct Answer :-

+ CaF, and ZnS / CaF, 3R ZnS

25) Which of the following aqueous solutions will be basic in nature? /
frafafaa # @ o-u1 st faea= upfa F amda ghme

1. Sodium chloride / oqifegy m

2. Sodium acetate /“Gh’%fm Qﬁ@?

3. Ammonium nitrate / SMIfTH HE%;&

4. Potassium sulphate / e Raw Tethe

Correct Answer :-

o Sodium acetate /“vﬂ’%fm U e

26) Which of the following colligative properties is used to determine the molecular mass of
egg albumin accurately? /

33 P T F ATUIFAS ST B gyfyar I Fuiiva 3 3g Fufafea a9 @ +=-
W U YOI BT STGRT fomar oirar 872

1. Osmotic pressure / URTHRU[ ¢
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The rate of the reaction 2NO-+Cl;22NOCl is given by therate equation, rate=k[NO]*[Cl;]. The value of
the rate constant can be increased by: /

2NO+Cly>2Nocl & fafhar g3 &r gX @Hlev], &3 =k[NOP[CL] & garT a1 S ar &1 &X
s &1 AT CART FErR ST Hehll &
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the expression: /
FfAfHRAr 2 A3 2B & foT A & ofcd gler F g¥ (¢ 36 BTuitRy®), B & YhdIh{or i
eX (¢ 3w viad) & Sioldh CaRT Hared ol
d[A d[B
[4] _ , dIB]

dt dt

—d[A] d[B]
dt  dt

—d[4] 1d[B]
dt 2 dt

dlA] 1d[B]

dt 4 dt
dl4] _1d1p]

dt 4 dt

1) Which of the following is the contribution of Nierenberg and Khorana? /

fFrafafEa & @ At 3 @A &1 A e $1-a1 82
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IRIMTFA SR IUTT=dt IAT & ael &1 gd
2. Discovered B-DNA / B-SIT-T &1 @Iel
3. Synthesis of artificial MRNA / W MRNA &1 JZY0T
4, Proposed Chargaff's rule / ARG 99 &1 gfdure

Correct Answer :-

« Synthesis of artificial MRNA / HTIH mRNA &1 HLAT0T

Which of the following polypeptide chains has the correct sequence of amino acids? /

Frafafea & @ o194t uiftriess ge & sfia) o 31 a8l 3gHd o2
1. Glycine, methionine, lysine, valine /"?ﬂg@ﬂ:f, ﬁﬁl’ﬁn:ﬂ:f, ?ﬂg@:f, CRIG]
2. Lysine, valine, methionine, glycine /3‘"3@:[, aFﬂ:f, ﬁfﬂuﬁﬁ, "?ﬂ%@:{
3. Valine, lysine, glycine, methionine / JGiH, TS, T39I, AR

4. Methionine, glycine, valine, lysine / BIJTM, TR, e, AR

Correct Answer :-

. Methionine, glycine, valine, lysine / AT, AT, deid, TS

Polypeptide chain formation in protein synthesis is initiated by: /
WA Hxewor # uiRkrierss @ fafor 59 gR1 = far wmars:
1. Aspartic acid /QTEIT% 3
2. Glutamic acid /w ST

3. AIanine/ﬁﬂTﬁF—T
4. Methionine / B3

Correct Answer :-

« Methionine / BfJ3fifA=

Chiasmata are first seen in: /

HATRISBT (BTSVSHET) B JAuYH g & &1 T
1. Pachytene / W(ﬁﬁm
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100 dioi & fAwtor & Twfera sreiRgh faure &t "= 2:
1. 125
2. 50
3. 200

4. 400

Correct Answer :-

e 125

The presence of a single copy of a particular chromosome in Aneuploidy is called .

SRIOTET # T ALY URE &Y Ut Uy 1 SufRufy Heara gl

1. Trisomy (2N+1) / FATUREIAT 2N+1)
2. Tetrasomic (2N+2) / %&W (2N+2)
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SFTgadteht (R 3 e aw el o el ST B |
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AYEfa & ardvifae et o aftfa 8
1. Only the first part is Generic epithet and second part represents specific epithet. /

Had Tgdl HIT THI Yohaue (SR TUee) BIdT & 3R guRT U Ay Tardug
@Rifthe Tftee) ol el gl

2. Only the name has to be derived from Latin or Latinised. /
Had T B Afe 1 AeTSvs I I fardT ST A1feu |

3. Only scientific name should be written in italic if printed and underlined if written /

Had gfad ford 91 W IS 911 B gefere # forar ST anfey iR ford oM R Yaifard
ERIEIEIEIRY

4. All of these/ SUgad Tt

Correct Answer :-

« All of these/ SUgad Tt

The photoperiod response of the plants is perceived by the .

dieit B SifQreTa (@i riiRas) ufafear & GRI ¢TI ATt 3|
1. floral buds / Tl &t il
2. leaves/tlﬁltﬁ

3. flowers / Y
4. Meristems / [aHSAId® (ﬁmﬂ)

Correct Answer :-

o leaves/ tﬂ%ﬁ:ﬁ
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1. White revolution / %ﬂ pifd
2. Green revolution / 8Rd hifd
3. Red revolution / AT ifd

4. Blue revolution / el shifd

Correct Answer :-

o Green revolution / éiia wifd

14) In a typical nucleus, some regions of chromatin are loosely packed, transcriptionally
more active and lightly stained are called .

e faf Few |, wiifea & 3o a7 R 0 9 U9, ciafrwma o a sifte
iy iR g A Rgfa g e R ST B

1. Euchromatin / Wﬂﬁq
2. Chromosome/ STHNIIH

DN O\ o

3. Chromatin reticulum / $PTHIC "I\QCI@(‘H-I

4, Heterochromatin / %élﬁ-@iéq
Correct Answer :-

« Euchromatin / Wﬁq

15) Cooking of food at temperatures just below the boiling point of water (82°C to 99°C) is
known as: /

\‘rl?r(%zoc®99°C)%7asma?aﬁ$=ﬂ%mﬁwmﬁa#aﬁumﬁﬂ%wﬁm
ST 8

1. Boiling / &Il

2. Pressure cooking / UIR W

3. Steaming / HIY I AT

4. Simmering / R ar R

Correct Answer :-

« Simmering / i a1 Rmfwr
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1. If they look alike and produce same number of off springs. /
fg 3 T o e & Td o T H Hafa &1 fafor ava g
2. If they have same number of chromosomes. / Zﬁ? 3_"“?[ U I o DILUESE] ?I?f %I
3. If they have more than 95 percent of similar genes. /gfe Er:lﬁ 95 Tf=Id ¥ i THH= SiA %I

4. If they can interbreed freely under natural condition and produce fertile off springs. /

H%é;TWUWﬁWW@WWH@&%@ US-1&H Tdfd &) o ¢
Jhd gl

Correct Answer :-

« If they can interbreed freely under natural condition and produce fertile off springs. /

u%é?lmtrﬁf@iﬁﬂﬁﬁ a7 70 Y bR R Jbd g Ud Jo--1&H Tdfd Dl o H
qhd gl

17) Polyploidy in plants cannot be induced by: /

gien ® g (uidiwiss) 39 g1 Uik 181 far &I e 3:
1. Heat/cold shock / TTH/GST ACh]

2. Colchicine / PifcafaH

3. Centrifugation / 3TH-E0T

4. Lime water / :ﬂqm:ﬁ

Correct Answer :-

+ Lime water / :ﬂqtn:ﬁ

18) In which of the following ecosystems, inverted pyramid of biomass can be observed? /

fFrafafad o A few aiifRufd® 3 % I & S fARIfire &) @1 o gadr 82
1. Marine / dH%
2. Tundra/g?ﬂ

3. Forest / d-

4. Grass land / dRTe

Correct Answer :-
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fFrafafad # @ $19-91 2-PIRS T IRAT S 1 31 T a8l 22

1. Exine / STeJ Al (YRITS)

2. Generative nucleus / SUTGH HGP (@ﬁ%ﬁa Wﬂ)

3. Male gamete / -IX THDH

4. Vegetative nucleus / PHIAD Bad (aﬁr%i%a m‘)

Correct Answer :-

+ Male gamete / IR JTHD

Which among the following statements is INCORRECT regarding “Flavr Savr” tomato
variety? /

fFrafafEd &  S19-91 $YF "TaR JaR THIER S fAfdyar F IR & Ted g2

1. It was produced by the Californian company Calgene./ R¥P] fAafor SfermifFar ot s
e A faar

2. It was the first commercially grown genetically engineered food crop./

g Ugdl A% =0 ¥ fahRid SidfRie =0 9 el |1 v ot

3. Production of polygalacturonase was blocked to ripen without softening. /

QTR B ITG- -RH U o1 e & fag s/aw T

4. It has short shelf life and poor nutrient quality./ S 3y 3fd it 3R Ul dcd Pi T JUEK]

IR BIdl B
www.FirstRanker.com
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frfafea 3 @ o-w g e afea 32

1. All of these / ITdad Tt

2. Acrocentric : centromere is at the centre / GF‘JIW ‘J'Uﬁﬁﬁ@%ﬁ%l
3. Metacentric : centromere at the middle / A&IbE: Wﬁgﬂﬂﬁ?ﬁﬁ%l
4. Telocentric : sub-terminal centromere / 3@ 4l: IU-cfHd OREfSg

Correct Answer :-

. Metacentric : centromere at the middle / HEIbK!: Wﬁgﬁﬂﬁ@ﬁ%l

Which of the following features helps in transportation and storage of seeds? /
frafifae & @ H19-30 fatdivar il & uRag siv UsR § Heg Bl 82
1. Seed coat only / HIA STSITARU]
2. Dehydration only / CCN ARSI
3. Dormancy only / FHad Elﬁﬁ?[
4. Both dehydration and dormancy / EENIEZUREIR Qﬁf@[ Ml

Correct Answer :-

« Both dehydration and dormancy / fAsfciiaRur 3R UG gt

Which of the following phytohormones is a stress hormone?/

fFrafafad & ¥ F19-91 BrgegIv= U 9919 gHi= (¢ g1HH) 872
1. Cytokinin / TSI

2. Gibberellin / fSTeRfe

3. Auxin / Sl

4. ABA / TdIT

Correct Answer :-

———ABA+THE
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1. Sporopollenin / WRAAAA

2. Cellulose / T

3. Cellulose and pectin / @@T’ﬁg 3R Ofdeq

4. Cellulose and sporopollenin / @ﬁ?ﬁﬂ 3R WRTAA

Correct Answer :-

« Sporopollenin / R

29) The arrangement of axonemal microtubules in 9+2 fashion is seen in: /

;%ﬁ%mﬁamﬁmﬁ(mmmm)aﬁmﬁmﬁa@

1. Cilia only / daa g (Rafera)

2. Centrioles only/ Had ARDDS

3. Both cilia and flagella / G&ATH (R&feram) 3R Had HRMHBT Gl
4. Flagella only / Had HRMYBT

Correct Answer :-

. Both cilia and flagella / G&ATH (Rferam) 3R Had HMHHBT Al

30)  Which variety of wheat has higher protein content and has been used as a donor for
improving cultivation of wheat?

g @1 fpa forw & Tid &1 9 Siftre g1t 8 ok 33 i 9t Wl § QUR & forg gran
& &Y A AT fHar SIran 82

1. Sonalika / GTfeTaRT
2. Himagiri / fgafR
3. Atlas 66 / UCdH 66

4. Kalyan sona / &[0T AT

Correct Answer :-

o Atlas 66 /UcCdY 66

Topic:- Zoology
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CXGINF

1. 44+ XYY
2. 44+XXY
3. 44+XXX

4. 44+XXYY

Correct Answer :-
o 44+XXY

The tissue that is found below the skin and stores fat is: /

FHd® Sl &9 & 1 U STd @ iR 991 &l WUfed pRdar g:

1 Ppﬂhp]inm tissue/ 3Th T dh
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8) Two genetically different organisms show similar adaptations due to:/
3 STgafre v J i sfia = & SR 9w sgepad foam €
1. Mutations / 3T

2. Coevolution / TgIdHT

3. Convergent Evolution / SR fasr

4. Divergent Evolution / SORT fabr

Correct Answer :-

» Convergent Evolution / SITRIRY fdhr

9) A Drug addict exhibits which of the following withdrawal symptoms?/

TS S UfSae (AR &1 3rdh FRafafea # 3 f5w vor & fafad aemvr o1 fRemar g2
1. All of these / SURTGI THT

2. Shakiness only / PHad B

3. Nausea and sweating only/ P Aae 3R T

4. Anxiety only / &Had d-1d

Correct Answer :-

« All of these / TR it

10) The Placenta has endocrine function and produces several hormones .Which of the
following is produced in the later phase of pregnancy? /

miATe (@en) B Sia- AT T ghar @ 3R Ug B3 i Uer war 8 | Fafrf@a a9
P THITRIT & U IR H 34 §laT 82

1. Progestogens / UoRe o

2. Oestrogen / QE;A ol
3. Relaxin/ Raifda=

4. Human chorionic gonadotropin / @gH HIRSND 1S E-A U

Correct Answer :-

e Relaxin/ ﬁ%‘%‘c—ﬂ
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A 1ifal # 9fpe da wrfaa st @:
1. Intrinsic factor / 3{d: ¥ ¥e&
2. Mucus / SeRTH I1 $%

3. HCl / Taftaeng
4. Pepsinogen [ BIE: ISk

Correct Answer :-

« Pepsinogen / UfRHSH

12) Plasmodium requires two hosts to complete its Life cycle. In which host does the gamete
production take place?/

WRAETH o1 3= Sfiad % B RT 1 & A g A=l Y mavadar gidl 2|
I IdTe- [bd Aa | gidT 82

1. None ofthese/%qﬁ@fmﬁ
2. Female Anopheles Mosquito/ HIGI Tl A8
3. Male Anopheles Mosquito / X TSl AR

4, Man / HIFd

Correct Answer :-

e Man /HIHd

13) The substance to be added to the blood sample drawn from the patient for analysis of
blood corpuscles and plasma is: /

Wﬁﬁaﬁmaﬁaﬁ?w%ﬁ@wégﬁﬁﬁmwm%mﬁﬁﬁgmﬁm
Ugld o:

1. Heparin / %'CI'P\’_"T

2. Sodium oxalate / TIISTH HIFTeie

3. Ice cubes / T &1 ch sl

4. Calcium carbonate /mﬁ_@ﬁ?{?

Correct Answer :-

e Heparin / gURA

H4)—The divatent metatcatiom essentiat for DNApotymerase to be functiomatisT7
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3. Mg2+

4, po2t

Correct Answer :-

. M92+

15) Excessive production of testosterone before the age of 10, leads to a
condition called ./

10 T B Mg T g IR A LRI F1 AT IuTe U R ST Hear 8
R wgremag

1. Eunuchoidism /WWWWW
2. Hypogonadism/ SIS
3. Precocious puberty / 3RS g
4, Gynaecomasﬁa/mﬁm

Correct Answer :-

e Precocious puberty / 3RS g

16) Rupturing of Graafian follicle is due to: /
UTHY Yo &1 ge-T (FuAiaT) AT & SR giar 3:
1. Decrease in LH / TUd § &4

2. Decrease in progesterone / TToRCI H T

3. Decrease in FSH / THUHTT H SHH!

4. Increase in LH / TdUd H E{@

Correct Answer :-

e Increase in LH / Tdud H E{@

17) A boy was diagnosed with soft bones, poor teeth development .It is due to

the deficiency of:/
TP dsd U U gf3al, TRIT gidl & fawRId g1 &1 uar gar| THT 39! FHl &
| RIS
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frafafEa & @ - mf FRue fafr T8 &2
1. Hormonal method / 1A fafd (ERTﬁﬂ?lﬁu_S)
2. Barrier method / AfdeT fafY (@faR Ays)

3. Natural method / U@ fde fafd (AR AYS)
4. MTP / THETT!

Correct Answer :-

o MTP / THST

Which of the following glands does NOT produce any enzyme? /
fFrafafad 7 @ -3 3 feedt tergH &1 e T Hedal @2
1. Gastric gland /W‘Jﬁ[

2. Pancreas / STHIRIY

3. Liver/ dhd
4. Salivary gland /W‘jﬁ[

Correct Answer :-

e Liver/ddd
Evolutionary history of an organism is known as J
it sita &1 faeraard! sfagma & U H AT @IS

1. Phylogeny / tb—lg?na:ﬂ
2. Ancestry / ARITdd (@Rﬁ)
3. None of these /Eqﬁﬁ aﬁé '_‘|—6pf

4. Ontogeny / g EIESED)

www.FirstRanker.com
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e Phylogeny / 3@ o

21) Where do you think the sebaceous glands are found in human body? /
3TYh] T eTdT © P Aa IRR & e () i wgi urs Sl 82

1. Muscle / U=t

2. Stomach / 3THIRI

3. Heart / 8ad

4. Skin / ‘<dl

Correct Answer :-

22) The stage in cell division that consists of G; phase, S phase,G> phaseis: /
PIBT fAUTS A 98 TR01 w64 3T, S AT, G, TRT WA &:

1. Metaphase / HHTIRI] (fl?:"l'aﬁf)

2. Prophase /Wﬂ (En'arﬁf)

3. Anaphase / a:ﬂ'ab_\rf

4. Interphase / 3o

Correct Answer :-

« Interphase / 3ol

23) The B cells in the pancreas secrete insulin .What do a cells secrete? /
TR § B HIRTHTT YA B TfId B 81 a PRSI 5 wfad st 82
1. Vasopressin / IIORE

2. Glucagon / b

3. Thyroxin / YRR

4. Oxytocin / SidreiRe

Correct Answer :-

» Glucagon / TP

24) The columnar cells that are specialized for secretion are called ./
www.FirstRanker.com
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1. Cuboidal epithelium / YUdIh R SUh cdl
2. Columnar epithelium / ¥THBR IUH AT
3. Ciliated epithelium / JHH IUHT

4. Glandular epithelium / Ufdd Iusmdr

Correct Answer :-
« Glandular epithelium / Jfd Iudmar

25) Smallest unit of recombination or crossing over corresponding to a single nucleotide
is called .

mq%%%aa;qmmﬁﬁm(mam)ﬁmmm
Heald gl

1. Base / &‘ITW(@G)
2. Allele / 3f¢iid (Taitq)

3. Muton / 3TY] (R )
4. Recon / Y-RTY] (Wq)

Correct Answer :-

e Recon / YR (WTT‘T)

26) Which of the following is NOT a step in uropoiesis or urine formation in the kidneys?/
fFrafafaa & ¥ S19-91 g A RIusRe a1 g7 fFmfor &1 ve R a8 2

1. Selective reabsorption /W‘Eﬁi&m

2. Deamination / fTAUHA (%'Q'Jiﬂﬁ?ﬂ)

3. Glomerular filtration /Wﬁ@ﬁ (@ﬁwm
4. Tubular secretion / TdIGR WA (CIETR HIh<)

Correct Answer :-

« Deamination / faUHAA (fSTHTM)

27) Name the immunoglobulin that mediates allergic reactions like dust allergy. /
I SR BT AT T Sl Y& TSI il Teroil &1 Ufafshar & TeaydT Hal g |

1. IgA

2. IgE

www.FirstRanker.com
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23) Read the passage carefully and answer the question given below:

At the age of 50 she felt the vacuum which accompanies that age, the child had grown up and
gone out for his further studies, her house hold was run on remote control with the help of maids
and gadgets, there was almost nothing to do apart from her job, she really felt the need to fill her
life with a new twist to add to the new meaning in her life. On racking her brains out she decided
to join driving which was her long-time dream. Stealthily she would get up every morning to go
to the driving school, hoping to one day take the car out on the sly and astonish everyone. She
took timid start to driving taking the car out slowly and mostly driving in first gear and at most
switching to second gear. She had still not established her ease of using the back gear when the
unforeseen took place.

What is the meaning of the word ‘Vacuum’ described in the given passage?
1. Correctness

2. Meaningless

3. Void

4. Confidence

Correct Answer :-

« Meaningless

24) Read the passage carefully and answer the question given below:

At the age of 50 she felt the vacuum which accompanies that age, the child had grown up and
gone out for his further studies, her house hold was run on remote control with the help of maids
and gadgets, there was almost nothing to do apart from her job, she really felt the need to fill her
life with a new twist to add to the new meaning in her life. On racking her brains out she decided
to join driving which was her long-time dream. Stealthily she would get up every morning to go
to the driving school, hoping to one day take the car out on the sly and astonish everyone. She
took timid start to driving taking the car out slowly and mostly driving in first gear and at most
switching to second gear. She had still not established her ease of using the back gear when the
unforeseen took place.

As per the given passage, the new twist in her life was:

1. To twist her life in a new way.

2. Her desire to fill her life with something new she could find.
3. To add a new meaningful experience to her life.

4. To make her life more creative.

Correct Answer :-

« To add a new meaningful experience to her life.

25) Read the passage carefully and answer the guestion given below:

www.FirstRanker.com
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gone out for his further studies, her house hold was run on remote control with the help of maids
and gadgets, there was almost nothing to do apart from her job, she really felt the need to fill her
life with a new twist to add to the new meaning in her life. On racking her brains out she decided
to join driving which was her long-time dream. Stealthily she would get up every morning to go
to the driving school, hoping to one day take the car out on the sly and astonish everyone. She
took timid start to driving taking the car out slowly and mostly driving in first gear and at most
switching to second gear. She had still not established her ease of using the back gear when the
unforeseen took place.

Guessing by the mood of the passage, what could have been the unforeseen?

1. She started driving very well.
2. She met with an accident.
3. She could never use back gear.

4. She bought a new car.

Correct Answer :-

o She met with an accident.

26) Read the passage carefully and answer the question given below:

At the age of 50 she felt the vacuum which accompanies that age, the child had grown up and
gone out for his further studies, her house hold was run on remote control with the help of maids
and gadgets, there was almost nothing to do apart from her job, she really felt the need to fill her
life with a new twist to add to the new meaning in her life. On racking her brains out she decided
to join driving which was her long-time dream. Stealthily she would get up every morning to go
to the driving school, hoping to one day take the car out on the sly and astonish everyone. She
took timid start to driving taking the car out slowly and mostly driving in first gear and at most
switching to second gear. She had still not established her ease of using the back gear when the
unforeseen took place.

How was her house hold run?

1. With the help of a particular remote control.
2. With the help of maids.

3. By her driving.

4. By her vacuum.

Correct Answer :-

« With the help of maids.

27) Choose the appropriate prepositions for the given sentence.

Paul goes school you, doesn't he?
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Imperious

2. Bossy

3. Autocratic
www.FirstRanker.com
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